
Preparation of Haloalkanes andHaloamuses
Preparation of Halo alkanes :
(1) From Alcohol (2) From alkanes

③ from Alkenes 4) By halogen exchange .

(I) from Alcohol :
(A) By rxn with HX ( ✗ = Cl,Bro ,I)
(B) By rxn with PX, or

Pils (✗ = Cl , Brr,I)
(c) By rxn with sock (thionyl chloride)

(A) Alcohol + HX :

R-OH + Hcl
""↳d.At 3

> R-A + Hzo
liq .

liq.
we# eh



R-OH + KBR
con" """

> R-Br -1 Hzo

KBR + 112504→ HBR + KHSO
,
in situ generation
of HBR

acid

R-OH + KI H3P04Ph°hÑÉ± + µ,
* For preparation A R-I from KI (or Nat) we

use Hz Poy instead of conc . Hzsoy
strong oxidising agent

.

KI + Hzsoy > HI + KHS0g
Has04
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(B) R-OH + PX}

nms¥!weR- OH + Pxs

pug is stable & Pcb is also stable sotbrz
SOI-

> R- el + HZPO}R-OH + PCI
] liq. liq.

T

> R-Clt Hcl + poclz
do not

R-OH 1- Pas exist

prom (Brat %) g R- Br + HBR -1 POBV,

> R- CI + Hctg ,-1 502cg )e) R-OH + 5°">
T
to egeorhietmber.T

Best method to
prepare alkyl

halide from alcohol .



from Alkanes : -ree radical substitution reaction

chlorination of methane : good amount

c.µ
, + Cig

sunlight (or%) ctlzci + Hcl

Brominating methane : good amount

Ctly + Br,
↳

> lengths + HRs

→ why
? ]
-1Iodination of methane : yield is very low . iodinationtf

hv alkane
is

Ctly + Ia g- CHzI + HI
a
reversible

How to carry out
iodinaticn -1 reaction

How to make
A alkanes? t, or

high yield ?By using strong 0- A like
HIO}

or HN03



HIO
,
-1 HI > Iz -1110

only onetybe C-alms ⇒ one type of H-atom .

hv
¥1 : ÉHg + clz > CHz.cl + Hee [ I RX]

only one type 4-c- atom ⇒ Only one typify-atom.

a a

GI: CHS 413 1- Clz
↳

> Ctljohzcl + Hci [ I RX]

a b a

GI : ±¥j¥k-E.tg-clz-chz-CH-cyz-chz-ohz-ctg-cl-tlcl.tw
types of Calais⇒ two types of a@ajar ] (minor

A- atoms .

1%5 →4 types
ofc-alaingshjtsfy.am

,
.

[2 Rx]
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ith8×-4 : ¥15 Fi;-¥5,4T>
+ "
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↳
>
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-

g-union, +
IHA 3 (A) Ctlzclith ith

⇐ Rx] CHJC- Ut-Us + Clegg-engage
(e) tu, te (B) 413 +HCl
ago



In the above situations
,
how to find out the

major product ? ⇒ More reactive H gets
substituted by Halogen gives

the major
* product .

Reactivity of H-atoms : 3° H > 2°H > EH .

* Cs tho (A) + Clz→ Single marechlorinated
product .

Write the Str . of A &
its IUPAC name .


